
NOTE：Please contact us in time. If you find any accessories
 missing or damaged in the package,we will send you the
corresponding accessories for free.

P.1TTPJ008



P.2TTPJ008



P.3TTPJ008



x 2

P.4

x 2

20 PCS 20 PCS

B   Ø15x10 C

20 PCS

E   M3.5x14

16 PCS

F    M5x40 G

4 PCS

H   M5*55
        8*60

 1 SETS

1 PCS

12 PCS

I   M3.5x16

2 PCS

D   M3.5x14

2 PCS

TTPJ008



1

P.5

4 PCS 4 PCS

B   Ø15x10

A

A

A

A

B

B

B

B

A

A

A

A

B

B

B

B

4 PCS 4 PCS

B   Ø15x102

TTPJ008



3

P.6

B
B

B
B

B

B
A

A

A

A

A

A

6 PCS 6 PCS

B   Ø15x10 C

C
C

 4 PCS

E   M3.5x14

E

 2 PCS

E
E

E

TTPJ008



P.7

4

A

A
A

A

A

A

B

B
B

B
B

B

6 PCS 6 PCS

B   Ø15x10

TTPJ008



P.8

5

16 PCS

F    M5x40

F

F

F

F

TTPJ008



E

D G

8 PCS

E   M3.5x14

2 PCS

G

G

E
E

D

E
G

P.9

6 E
E

E
E

E
E E

E
E

1 PCS

D

TTPJ008



E
E

E

E
E

E

E
E

D G

8 PCS

E   M3.5x14

2 PCS

G

G

D

P.10

E
E

E

G

7

1 PCS

TTPJ008



6 PCS

I   M3.5x168

P.11

I
I
I

I I
I

I I
I

TTPJ008

When installing the hinge on the left side of the mirror, make
sure the mirror stays flush with the top plate before tightening
the screws.



6 PCS

I   M3.5x169

P.12

I
I

I

I
I

I

I
I

I

TTPJ008



WALL

WALL

WALL

WALL

WALL

10

 1 SETS

P.13

H

H

H   M5*55
        8*60

H

H
H

TTPJ008


	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)
	GS-09W说明书 Model (1)

